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QUESTION 1

The following are true about the Configuration Advisor, EXCEPT: 

A. It offers recommendations for the initial values of buffer pool size, database configuration parameters, and database
manager configuration parameters. 

B. It creates database objects such as indexes and MQTs to improve performance. 

C. By default, the Configuration Advisor is automatically executed when you create a new database. 

D. To use the Configuration Advisor, you can execute the AUTOCONFIGURE command from the DB2 Command Line
Processor. 

Correct Answer: B 

 

QUESTION 2

Consider the scenario where a server "pscale1" hosts a DB2 member and one cluster caching facility. In a situation
where a database administrator wants to perform an operating system update on "pscale1", which one of the following
options will ensure that both the member and cluster caching facility won\\'t be automatically restarted by DB2 cluster
services while the system is upgraded? 

A. Log in to any of the hosts as a root user. Stop the member and cluster caching facility. Remove the member and
cluster caching facility from the cluster. 

B. Log in to any of the hosts as root user. Bring the member on "pscale1" to quiesce mode. Bring the member on
"pscale1" to maintenance mode. Bring cluster caching facility on "pscale1" to maintenance mode. 

C. Log in to "pscale1" as a DB2 instance user. Bring the member on "pscale1" to quiesce mode and stop the cluster
caching facility. Stop the instance on "pscale1". Log in as DB2 cluster services administrator. Bring "pscale1" host to
maintenance mode. 

D. Log in as a cluster services administrator. Bring the member on "pscale1" to quiesce mode and stop the cluster
caching facility. Bring the member on "pscale1" to maintenance mode. Bring cluster caching facility on "pscale1" to
maintenance mode. 

Correct Answer: C 

 

QUESTION 3

Which one of the following options is TRUE about DB2 pureScale? 

A. DB2 pureScale feature does not support range-partitioning tables. 

B. A DB2 pureScale installation is only supported on AIX platform. 

C. DB2 pureScale feature supports multiple interconnects for both members and cluster caching facilities (CFs). 

D. DB2 pureScale feature supports multiple interconnects for the cluster caching facilities (CFs). 
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Correct Answer: D 

 

QUESTION 4

Consider the scenario where a database administrator is required to restore a database backup for a DB2 pureScale
environment. Which of the following statements is correct? 

A. The RESTORE DATABASE command will need to be executed on each DB2 member within the cluster to restore
just the database. A separate command will be required to restore the metadata for each member. 

B. The RESTORE DATABASE command will need to be executed on the shared storage to restore the database. The
metadata cannot be retrieved until the shared storage is restarted. 

C. The RESTORE DATABASE command will need to be executed on each DB2 caching facility within the cluster to
restore just the database. All node metadata is not recoverable since it is not stored within database backups. 

D. The RESTORE DATABASE command will need to be executed on only one of the members within the cluster. This
operation will restore both the database and metadata for all members. 

Correct Answer: D 

 

QUESTION 5

Which one of the following statements is FALSE about DB2 Workload Management (WLM)? 

A. When a WLM threshold condition is violated an action is executed in order to maintain stability in the system. 

B. DB2 Workload Management uses workloads to identify incoming work based on the connection attributes under
which the work is submitted. 

C. DB2 Workload Management dispatcher can be used to control sharing of memory resources among active
workloads. 

D. DB2 Workload Management allows dynamic re-prioritization of work by remapping a workload to a different service
class. 

Correct Answer: C 
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